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1. [ ) 3 RC SBIFEERE » FEER Ry f IE5208 2 SR EE R - RSB PH 23 5 RE 2 R TR A4
B B2 ?
(A)0.5f (B)f (C)1.5f (D) 2f
2. )1 E4EECCRER  HAIMBRED X=10Q > EHE P =50 2 60° V 2 B E B -
RT3 2 BRI ER 2
(A) 6=90° (B) P=0W (C)S=200VA (D) Q.=250VAR
3.0 ) A—BMERORER > IAEJRERE v(t)=200sin(377t)V » EAFER i(t)=5c0s(377t—
30°)A - oK% EBESHY LR RS (PF) Ryfor 2 [105 #¢7H1 ]
(A) 05 #RiT (B)0.5 > %% (C)0.866 ° A (D) 0.866 > ¥41%
4.1 1 A—STRERSAYERE v()=10042 sin(B77t+20°)V ~ &7 i(t)=10/2 sin(377t-10°)A >
KL BRI Ry 2%/ 7 194 M)
(A) 500VAR (B) 866VAR (C) 1000VAR (D) 2000VAR
5.0 ] HEEHAHAORERS > BN Y =100 £30°V EIFE RN » #E4 7 =10 £60°A 2 B
B 0 AT BrR g & s 2
(A) 6=—30° (B) S=1000VA (C) P=866W (D) Q=—866VAR
6. [ ] FE#EEBERELEIR A% v(t)=1004/2 sin(377t+30°)V K i(t)=104/2 sin(377t-30°)A
Rt &R 2 (88 47HI]
(A) FEII% F 1000VAR  (B) AXIN%E 1000W  (C) [T AEREN: (D) FEPUAE
ik
7.[ 1 7%A—RLC hlERs - BEIFEEL v(1)=1004/2 sin(120m)V - EEHFHITH R=3Q -
X=7Q ~ Xc=3Q > HIEFE ZEIH Q K%/ ?
(A) 3.2kVAR (B) 2.4kVAR (C) 1.6kVAR (D) 1.0kVAR
8. [ ) HEMHASRER » HEFERE 100V @ ZHEER B 5A » DR PF & 0.8 #HT
RIRZEBRE 2 BB IR § Ry2o/b ?
(A) 360+j480VA (B) 360-j480VA (C) 400+j300VA (D) 400-j300VA
0.l Y E—ZEH 110V ZEMESTRER - HUH 880W Z EH % » CRIHIRNE S 0.8
Bt o RIERERIE A 2 [9140H1]
(A) 10A (B)11A (C)20A (D)22A
10. [ ] A—Ih%EE PF=0.5 Z &# » ZH AC100 V ZEJFIF » FrMfEFgsns
P=600W > G KA KB TZR Prax £y 2
(A) 1800W (B) 1200W (C) 1000W (D) 800W
11 [ ] FEMRRER - %5 7 =6+j8A Z BB Z=8+j6Q Z[H#i > RIARHZ EK 2 &
IHERR - TH e EEEER ?
(A) fRAEDE S=1000VA  (B) EI/% P=800W (C) FEL% Q=600VAR (D) Ijj%
[R# PF=0.6
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] 5— LC Wil EER » EEIFERR V=100V ~ C=40uF - & &5 AHEZR By 5000rad/s
HFEE RS EEIR - R AIRC A & EmE 2 (105 M)

(A) B L=10mH > SE{RIFEIREMAHZE  (B) BEL L=1mH - SE{RIFEIR R HZ
(C) Ik L=10mH - ZEIRIFERJHEIR AR A (D) BN L=1mH > Gkl SR BT

R EIRAK

1 THIERE RLC Sl eEpsayRl - [ $EaR 2 (92 &uHl)

(A) FEREIRIFHE N AUREIE  (B) MEREIRIF M ZEIPRE A (C) SEfRAARE R X
/INVERE (D) fEE IR L HYEEEREL C HYEE R AV MHTE

] WiEFTRZ RLC SBlEERE - HEERAIR wo fufrl 2 [90 &Ml]

100 mH
v, 40k Q

o—

0.1 uF

(A) 50raij/s (B) 4x10°%ad/s (C) 10%ad/s (D) 4x10°rad/s
1 A— RLC SRS » EREITH R=10Q ~ C=0.001F ~ L=0.001H - & RN ERE
LB Ry 10A - RIIRZ BE P& SRR A BB B v(t) R fA] 2

(A) 70.7sin(1000t)V  (B) 70.7sin(159t)VV  (C) 100sin(1000t)\VV (D) 100sin(159t)V

] 1£ RLC SR+ » CASORERAARIES 100V > R=10Q > L=8mH » C=6yF -
SREEFE AR BRI Y DR R S 98 Al Rfel 2 (93 HA ]

(A) 0.8 FEF 5z 1kW  (B) 0.8 %1% 52 1kW (C) 1 &z 1.2kW (D) 1 Fz 1kw
]  RLC WiH##E RS » BEF&ITIF Ry R=50Q ~ L=40mH ~ C K&t » 5%a% BRSE v(t)=

1002 sin(500t)V 7 85 S BR A AR SS9 - RIRZ RS FeBIRIG 2 AR (C) JERf ?
(A) 50uF (B) 100uF (C) 150uF (D) 200uF

Y W@~ GRS - S0 AR R V=100V 0 Ri=8Q » L=1mH » C=10pF -
RIEETREF Z 1o Fo{m] 7 [107 &M ]
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(A)6A (B)SA (C)10A (D)12A
) WEFTRZ EACBREERS » 5 OKE% BB 2 sB IR fo Fefa] 2

100Q
=1 uF

7:10040"\/’\)
1H

(A)15.9Hz (B)31.8Hz (C)159Hz (D) 318Hz



20. [ ] R ERE > 2 EERSEEIRES 2 EIRER lo ffrl ?
(A)99mA (B) 49mA (C) 9.9mA (D) 4.9mA



